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GENERAL INSTRUCTIONS TO THE EXAMINEES:
1. gdedt IIuYH U U U WX HUAT ATHG Ffaarid: T |

Candidates must write his/her Roll Number on the question paper.
2. |t g HfAard &

All the questions are compulsory.
3. AP UG P SR & IS SR e # & |

Write the answer of each question in the answer sheet only.
4. 3 uRdl & HaR® @s ¢, 30 M & 3R Th @Y & md|

For question having more than one part, the answers to those parts are to be written together in

continuity.
5. URE Pl S M@ @ Td U T Al 3T HY |

Write down the serial number of the question before attempting it.

6. U U & TRl g HISH FUR H Ehell YebR &1 Ffe/ 3R/ ERIUTHE el W fRE amar & g o
& HE A

If there is any kind of error/ difference/contradiction in the Hindi and English versions of the question
paper, the question of Hindi version should be treated valid.

7. Ul BT HHIR AR 2|
Weightage of marks for the question is as follows.

Tus—37(A) 1(itox ), 2 to11=20 1 20
Tug—d(B) 12to 19 =8 2 16
wue—H(C) 20t023 =4 4 16
W—‘Q’(D) 24t0 25 =2 5 10
wus—4(E) 26t028=3 6 18

8. U FEAT 20 A 28 H AR® [P & ERAT Th HbeU Pl & DIIoTT|

Question number 20 to 28 is the internal option. Attempt any one option.
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1.

gus - T
Section—-A
agmar«tfr e
Multiple Choice Questions
(i) 3TAET FT ST fF AT ST & ?
@) usA ey @ A
@)  Ufaew @)  qFgeEd

Who is known as the father of economics ?
(A) Adam Smith (B) Marshall
(Q) Robbins (D) Samuelson 1

(i) =afte 3R gafSe Qreel &1 uAeT AU IRAT IR -

@G1) 1930% @) 1933 &
@) 1936 § @) 1939 &

The words micro and macro were first used in -

(A) 1930 (B) 1933
(C) 1936 (D) 1939 1

(iii) T BT HIT TAT SUHNFAT B 31T & fra FAY T -

@) gaTHD @  3Ed

@) Y @  ufdel#H

The relationship between the quantity demanded and consumer's income is -

(A) Positive (B) Infinite
(Q) Zero (D) Inverse 1

(iv) EAEY T & SUANDTAT BT Foiad el ST & -

@1 3 @) 3
@ mEfEa @ R
Creation of utility of a good is called -

(A) Consumption (B) Production

(Q) Exchange (D) Distribution 1

*

2
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EQLYJL!Aﬁ ) T MEehdl dTell delR & -
@) qot gfd=mrar @)  UPIHHRIHSD UiAANITEr
(") 3AcUIRPR <) ThIRIBR

One seller market is

(A) Perfect competition (B) Monopolistic competition

(C) Oligopoly (D) Monopoly 1
(vi) GehoTer a3t # FrTae @ el S ¥ -

(31) ¥l®w @) Udre

@)  HegedAd @) faaer

o

The wear and tear of capital goods is called -
(A)  Stock (B) Flow
(Q) Depreciation (D) Investment 1

(vi)  dF garr AREd I3E® F ET S FAT FNER H AN & 3% Fed § -

(31) Al ST @) T STATT
@) URBIH JTATT @) 2 ERCEIY

Deposits accepted by the bank for a fixed period are called -
(A)  Time deposits (B) Demand deposits
(@] Primary deposits (D) Derivative deposits 1
(vii) $RA F UHh FTUT & Alc W gEAER 8T &
(31) g @) Hed FAT
@) I gmEd @) PGy
In India One rupee currency note is signed by -

(A) Prime Minister (B) Finance Minister
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30) AC @) C
( AY Y
) as @) >
AY a Y
Formula to find the average propensity of consume is -
A) AC ) C
( AY Y
(€) as (D) > 1
AY Y
(x) ©1C & golc F 3T &
(31) Pl 3T >Fol T (a) Pl AT < Pl AT
@) P AT = T I @) Pl 3MA=0
Deficit budget means
(A) Total Income > Total Expenditure (B) Total Income < Total Expenditure
(Q) Total Income = Total Expenditure (D) Total Income =0 1
2. DT a&] &1 BI$ Teh 30l ST
Give one example of a Giffin good. 1
3. ofd ¥ F 3mE R
What is meant by supply? 1
4. @ g T B drell a3 & AH EHHET|
Write the name of two perishable goods. % +§ =1
5. Odhel AT ¥ AT T THAST &2
What do you understand by gross investment? 1
6. & AT YoTell & 7Y HIET|
Write the meaning of barter system. 1

7. SUNANT Bold B AEET &7 F HY Qg &2

How is the consumption function expressed mathematically? 1
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Write the formula of revenue deficit. 1
9. VT Fir ArET H A AT 3T T VoWIR & DaEId Dl CIIT hd ¢l
In the branch of economics, we study general income and employment theory. 1

10. 3usfar 1 HHAid ugfea (MPC) + aaa &t daaid ugfeT (MPS) = |

Marginal propensity to consume (MPC) + Marginal propensity to save (MPS) = .1
11. RA & ET ag q de g &l
) . . - 1 1
The financial year in India is from to S5 = 1
gus -t
Section - B

12. FIAP MWV TF UIDPTh [EVNUT Bl H&T F FHASSU|

Briefly explain static analysis and dynamic analysis. 1+1=2

13. ICUTRIGPR &l IRATINT HITST|

Define oligopoly. 2

14. qoT GfdRIDTAT 9I6IR & Teh 3T & e fAeRor o JewEs =]

Draw a diagram of price determination in an industry in the perfect competition market. 2

15. 31U IFAR AT I AT 0T & AT ATl & FHEIT A1 2

According to you what are the two problems in calculating national income? 2

16. 37T & THIPR YdIE & T AlSel Pl JW@ET ¥ Q1sU|

Draw a diagram of the simple model circular flow of income. 2

17.m§aw01 T §? 2

What is Demonetization?

18. MU I H dolec & P & 32T Id1sU|

In your opinion, state any two objectives of the budget. 1+1=2
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Section-C

20. I EREN G & HIAT 5§ o AN S dlell AET 10 HS § ST HIAT dG6hT 10 A S & A
AN S arell A TR 8 ShTS IE STl © | TR a1 requrfcies T & Hior & HAd s H
IUTAT HIAT |

31ar
S EREY aEq T BT 10 ¥ A SHH AT 2003HTS ¥ IS HoAd Tt 8 F S & A AT
dEhY 250 SIS B Sl ¥ Pel TY N HEK T HIT &l & AT HITIT |

If the price of a commaodity is X 5, then the quantity demanded is 10 units. When the price increases to
% 10, the quantity demanded decreases to 8 units. Calculate the price elasticity of demand by
percentage or proportional method. 4

OR
When the price of a commaodity is X 10, then its demand is 200 units. If the price decreases to X 8, then
the demand increases to 250 units. Find the elasticity of demand by the method of total expenditure.4

21. T3 @AM @ ‘B’ U H Yl H 70 HifSw:

axg A HAT (H) 05 10 15 20

‘N 3UEH GaNT it 07 12 19 28

‘B’ ScUTesh arT gfct - - - -

eI} gicd 20 30 50 60

372qar
o= et @ Pel IR AT || A

3cfed AT (Q) 0 1 2 3

el R eI 20 20 20 20

Pel GRacH ofrare — - - -

SRS 20 28 34 38

Calculate the supply of ‘Product ‘B’ from the following data: 4
Price of goods () 05 10 15 20
Supply of producer ‘A’ 07 12 19 28

Supply of producer ‘B’

Market Supply 20 30 50 60
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OR

W I T T ——_—_—_—————

meteaning A0 Find out the total variable cost from the following table :

Quantity Produced (Q) 0 1 2 3
Total Fixed Cost 20 20 20 20
Total Variable Cost _ _ _ _
Total Cost 20 28 34 38

22. 3MU% ITER Hal & Ehetl TR BT Bl qui HITAT|
37
HUDh 3TER G ol &I Bl TR HHAT s HIfAT|

According to you, describe any four functions of Money. 1x4 =4
OR

According to you, explain any four limitations of credit creation.
23. URA @ar & @i & TGEddar ¥ Ay
gdr
goit &l HATT PREIDRACT D IWES HI FerIdl & AT
Explain induced investment with the help of a diagram. 2+2=4

OR

Explain the marginal efficiency of capital with the help of a diagram.

gusg - 3y

Section-D
24.wﬁw3ﬂ2m%?masa§wmwmﬁwwzﬁﬁm

3rqar

UGRIRIPRICHD U F T 3T 82 SHD Bl IR HAVATT JdTsy|

What does the market mean? Classify the market by region. 1+4=5
OR

What is meant by monopolistic competition? Explain any four characteristics of it.

25. QI IOTAT AT T2 ACET 31T & AT f Aed Ha9aT HR A 3erevr wied carear fifa|
372rer
MEE FeAToT F FAT JBIUTT 2 AT 31T T 3MEF hodIoT J T Ja9 ¢ ?
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What is double counting? Discuss the value added method of measurement of National income with

] BBYU'S I~

OR

What does economic welfare mean? What is the relationship between national income and economic
welfare?

@us- §
Section - E
26. AT A Jog P QWb IEJIT TAT TAATe IEI3T H AT W e Bl [@mwr=t - Ferddr d

AT
Agar

HIT B AT Y Fheel dieT AT B FWIEET H Jeradr & AU
37q@r
HT Th &b Gliea! 3R TT AT IR DGHh &l IQIEAT HT Te—dl § AU

Explain the effect of increase in price on the demand of complementary goods and substitute goods
with the help of diagrams. 3+3=6

OR
Explain any the three types of elasticity of demand with the help of diagrams.
OR

Explain the shift of the demand curve to the right and left and with the help of diagrams.

27. 96N ] & GUROT Bl I@IHEET T HEIdT & AT
31erar
3raa scutea va Weid scuea Y caredT (@A B gErEdar @ ffSw
31erar

Ererprelal 3 o va Ereidrele AT FPTT HY AT JQ@ET S JEddr § Hifav|

Explain the concept of market supply with the help of diagrams. 3+3=6
OR

Discuss average production and marginal production with the help of diagrams.

e

8
-
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Discuss the long-run average cost and long-run marginal cost with the help of diagram.
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28. Herg dF F e NI Prf F EXAR ¥ Ui HST|
372rar
AR Rod deh dr Afee AT & el i Je@ Uil & EFIR & auid S|

31gar

T ETAHT GuTell & Eheel el BISASA BT EFFAR & auie HfT|

Describe in detail any three functions of the central bank. 3x2=6
OR

Describe in detail any three principal tools of monetary policy of Reserve Bank of India.
OR

Describe in detail any three difficulties of the barter system.
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